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Write a congruence statement between triangles and state the postulate implied. If you
cannot apply a postulate, write "no conclusion can be made.”
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Name the included angle of the given sides of the triangle:
5. KAJKL: A) JK and XL 6. AQRS: A) OR and RS
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7. Assume that 4B = CD and BC = DE. What additional g
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8. Assume that 4B = CD and BC = DE. What additional
Information would you need to prove that A4BC =ACDE by
SAS?
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q. Given: AB=DE , AC=DF and £A=2D
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4. AABC=ADEF 4. SAS
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Prove: AABD=ARBCD
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1. AB=CD 1. Given

2. AD=CB 2. Given .
3. BD=RBD 3. Reflexive property
4. AABD=ACDB 4. SSS ;
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Prove: AABC=ADRC

Statements Reasons

1. £B=£D 1. Given
2.ACBisectsBD | 2. Given

3. BC=DC 3. Definition of Bisect
4. £ACB=4DCE 4. Vertical angles

5. AABC=ADBC 5. ASA




